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ABSTRACT

Liberalisation of the EU electricity market has brought little salvation for independent
CHP. Fair access to the market is not guaranteed and many projects suffer from the dismantling of
existing support schemes. The EU Commission publishes in 1997 a strategy to promote CHP, and in
2002 a proposal of CHP Directive. A good CHP regulation needs two issues to be solved: 1/ identify
precisely what is CHP when a thermal power plant can be operated in the mixed state of partly
combined and partly condensing operation; (and after 1) 2/ qualify the results for assigning particular
rights or duties. The proposed Directive neglects to identify CHP precisely. As a corollary there is no
firm basis for qualification. The 2002-proposal would have resulted in an obstruction of many CHP
projects, but the perverse incentives are remedied in the 2003-amended proposal by accepting a
variety of separate benchmarks. By assigning a lot of decisions to the Member Sates and by the
shortfall in guidelines for identifying CHP well, the Directive will not reach the own stated goals of
harmonisation.

However, there exists a scientific and workable methodology for identifying CHP precisely.
It needs a few definitions and concepts such as production possibility set of a CHP process, design
heat to power ratio, heat capacity factor. The well identified quantity of cogenerated electricity is a
sufficient ground for qualifying CHP activities. It is also the solid basis for the unbiased further
qualification of the results by some internal or external benchmarking. Given the ‘common positions’
arrived at in September 2003 by the EU institutions, the perspective that the first best method will
win over the second-best approach is meagre.

1. INTRODUCTION

The development of CHP in Europe is quite unequal due to differences in industrial and urban
structures, climate, natural endowments and policy choices about technologies and infra-struc-tures
[19]. CHP is generally considered as a benign way of generating power, and often public authorities
have promoted its development. An outspoken example of such support have been the Netherlands
where CHP has grown from 2700 MW in 1987 to over 8000 MW in the year 2000, covering a market
share of over 50% of power supplies [www.cogen.nl]. The growth was feasible by the overall avail-ab-
ility of natural gas, by important investment subsidies and - last but not least - by fair terms of trade
with the gas and power central systems. In other countries (e.g. Belgium, France) the central suppliers
were less benevolent regarding distributed and independent CHP. By imped-ing a fair access to the
power markets, central power companies blocked the way for a signi-ficant growth of independent
CHP. Mainly CHP plants that are owned or co-owned by the power companies were built, rather as an
extension of the central system than as the development of distributed power systems.

The EU Directive 96/92/EC [5] on the Internal Electricity Market was welcomed as a means to
dismantle the monopoly strongholds and to level the playing fields in the power sector with a guarantee
of fair terms of access to and of trade with the grids. The expectations that liberal-ising the electricity
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Two  Issues: 

Two Responses: IDENTIFICATION QUALIFICATION 

 
Draft Directive 

COM (2002) 415 final 
COM (2003) 416 final 

• Approximate assessment of ECHP 
for statistical purposes 

• No assessment of FCHP 
• Use of default power to heat 

capacity ratio’s 
= NO REAL EFFORT in identifying 
CHP activities and results. 
 

• Based on the ‘mixed quality norm’ 
because ECHP and FCHP are not 
properly identified and assessed 

• Biases and perverse effects of using 
the ‘mixed quality norm’ are reduced 
by accepting a broad range of 
reference separate processes for the 
external benchmarking 

• The method is opaque; its adopters 
often do not understand its meaning 
and effects. 

  

 
Division rule and 

CHP Energy Saver 
Index 
[24] 

• Accurate measurement of QCHP 
flows and certified statement of 
technical design parameters of the 
CHP processes 

• Reliable assessment of ECHP and 
FCHP 

= ALL EFFORT put in good 
Identification applicable on all CHP 
technologies 

 

• The well-identified amount of ECHP 
is a sufficient ground for CHP 
qualification. It stimulates investors 
to high-quality CHP designs and 
operators to maximise useful heat 
recovery 

• Internal or external benchmarking 
can be added without biases or 
perverse effects because of the solid 
identification before of the CHP 
variables 

 

���������������������������67��
�	������K�E �BL����������	
�������
�,0$���	�������
����	�
�
������������ KCL� ��
��� ����� ��� ���� 
������ ��� ������ 	��
�%��	��� ���������� ��
� ���� ����
	�� ������.
���������	�����	���-�	�����	������8����	����	
����������	��������,0$�	����������	���
������ ������������

���� 	��
�	��� �������	���
���� ��
���������?�� � 	� ���� ��� 
����	��
������
������ ��� 	�������� ��� ���
"��
�
�#�	�����8��������67��������������������������������������	������
�
��� ����������"��
�

#�	������������
��������������
�����K��L��*��	����	��������������������
����������F���������������	����
������	����	
��������������������������������
	���������
��
�������
�	��������
	���	
����G�	����	������
,6,�KB ����L�������	���
����
�	����	�����
��"��
�
�#�	�������������������������������������������������
�
���������
��
��
�������,0$�	������	����������	��������=�	���
��
������4A������5�	�
�	��������������
������
����
	����
����	�����'�
�������KC ��2 ��@L������	���������
��
����������L��*����	�����
����	��������
�
�����������,0$ �����=�������
��������	�����
����	����������
��������	
�����	���������
�	���	����

���� 
����,0$�	�����	�������	���	

	����������	��������
�����	���

<	 ��5������
������

����	����
�������
��������
���
��	
���	���-���������
������
	��,0$��%��
�� �����	
�����	

$�6�(
�������� 4�*#)6 �'I5 �"��'��$	���� 47(���� �A65 �#��"������ 4,�����6�
���5 �#��=
�����
467)�06+��H�$)86�5 ��46�)? �'65 �(��,	�!��488=5�



���������	��
�����
�� �	����
���	
�� ����	�� �������� ��� ����� ������<<

=	 ������������

6 O $���
������4"8�5��
�����
��	�	�����4"85
6

���
O $���
���������
������
������
�
	����
����
��	���������������,0$���	��

6
����

O $���
���������
��������������	���������������,0$���	��
6

�����
O $���
���������������,0$���	��������6

���
�Q�6

����

S O �	�������4"8�5��
���	���	�	�����4"85
S

���
O 0�	��
�����
�����
�	���������J�	����S

���
�O�S

"#�$"�
J�������������
��
�����	
���
�����

S
����

O 0�	��������	���������������
�������
��	����������������������
J�	����O�S
%�#��

S
�����

O 0�	�������
���	���������
�	������
���	���4	�����	�����:�	�	�;���	�5J�O�S
���

�Q�S
����

= O =���������4"8�5��
�������	�	�����4"85
=
���

O =������������������
������
�
	����
����
������
�����
	��������	�,0$���	��
=���� O =����������������������������	�����������	�,0$���	��
=
�����

O =�������������
������,0$���	��J�O�=
���

�Q�=
����

6
���

O "	%���������
��������4�	�	����5�	��������������	�����	����� ������
������
�������������
6

�������
��
�����	%�����,0$��
�
	����
����
�������6

������
�4����������#5

S
���

O "	%��������������	���������4�	�	����5�������������	��������#�
# O A��������������	�,0$��
����� ����
��	���	%��������������	�����������������
	��������


����������	�����	%��������)���������
	�����������	���	�����
����	������
�����������4����
���	����

��������������������������
�5�

σ O '����������
������	��
	�����������������
	������
������
η

�
O ���������
�����������������
���
��������	
	�������
�����
	������
���������������������

�-�	����
η

&
O ������	����������������
���
��������	
	�����	���
����	��
����
������������������-�	����

α� O ���������
�����������������,0$���	���46�����5�����������������4=�����5��-�	����
α

&
O �������������	��
�����
��	������,0$���	���4S

���
5������������������4=

�����
5��-�	����

A	 ��
�������

K�L +�����������BB@��,�����������������
	������	���������������	����	���� ��
���,��
�
��
�
�
��@4@5.�C��CC�

K�L A	�� � $�=�� �BC1�� (�������������� 
��� ��
� $�	����� ���� 0��!�
	����
���� ��� 'V���	
� � *�
%
���K��
�0��
��	����	���C�M	�
�	�� �0����� �M���.�@��@@�

K�L A�I8I�A�������

	���I
	���8V
���I����������>���EE���)��������������A�I8I�������
�
����	���������6�
���	��,����������,)"�4�EE�5�<�2����	���
������M�����EE�����	�'�
������
�������6�
���	��$	
��	�����	����������,���������������
�����������������
	�����4,�����
	����
'�
������5��A�
��� ��E�+������ �C���

K<L A�����% �"���B<B��/	��	
����	������������	�������������.�	�����	���������	���W�
�������	������
	����X���	
���	���*��-
��
��
��C��
�������L��	�X�.�����<E�

K2L ,6,�,�����������������6�
���	��,�������������BBC��'�
�������B@9B�96,��������6�
���	�
$	
��	�����	�������,�����������B�'����
�
��BB@������
����������������
�������
���������
�	�
�	
������������
�������)M�/�C ��E�M	��	
��

K@L ,6,�,�����������������6�
���	��,�������������BBC��,�������	������
�������,���������
�������,�������	�������6�
���	��$	
��	����.�+�,���������#�
	���������
���������
����
��	��	�������
�4,0$5�	����������	�����
	

��
����������������������,)"�4BC5�2�<����	� 
A
������ ��2�)���
�
 ��C���

KCL ,6,�,�����������������6�
���	��,�������������EE���'�
��������������6�
���	��$	
��	����
	����������,���������������
�����������������
	�����
	�������	����������	�����	���������
����
�	�����
����	
�����,)"�4�EE�5�<�2����	� �A
������ ����#�����
�
 �<C���



���������	��
�����
�� �	����
���	
�� ����	�� �������� ��� ����� ���� ��<2

K1L ,6,�,�����������������6�
���	��,�������������EE���+��������
����	����
�	�'�
���������
����6�
���	��$	
��	�����	����������,���������������
�����������������
	�����
	�������	
���������	�����	��������������
�	�����
����	
�����,)"�4�EE�5�<�@�����	� �A
������ ������#�����
�
 
�����

KBL ,6,�,�����������������6�
���	��,�������������EE����,�������	������
�������,���������
�������6�
���	��$	
��	������#6,4�EE�5��������	� ��EE�9E�12�4,)'5 �#�����
�
 �C���

K�EL ,)7?,*/��������6�
���	��7�������EE���'�
��������EE�9��96,��������6�
���	��$	
��	�����	��
��� ���� ,������� ��� ���� �
�������� ��� ������
	����� 
	���� ��� 	� ������� ��	�� ���	��� ��� ���
����
�	�����
����	
����	���	��������'�
�������B<9<�966,��*����������	��=�����EE�9E�12�4,)'5 
A
������ �1�#�����
�
�

K��L '��
Y�� �'��	���'
������ �(���EE���6/6,��+A6/�+�6�
���	��,���	��������A����A��	
��� 
6����
	
�� ��B���

K��L 67�)06+��H�$)86����EE���"	��	����
��	����	�����,0$������
���������	���
�	������������
�
�����������+
��������	���+���%����������'�
��������������6�
���	��$	
��	�����	�������,������
��������
�����������������
	�����
	��������������������	�����	��������������
�	���	
������
���
���46�
���	��H�$���
�"	��	�5��'
	����1�)���
�
�

K��L 6$�6�
���	��$	
��	�������EE���'
	�������
����������
����	����
�	�6�
���	��$	
��	�����	��
,���������
���������������
�����������������
	�����
	�������	����������	�����	���������
����
�	�����
����	
�����4,)"4�EE�5�<�2�D�,2�E�@@9�EE��D��EE�9E�124,)'55 �,�����������
*�����
� �6%��
�	���
	�� �����	
���	���6��
�� ��	���
���
.�?�

�
��(�	��� ����?����
�
 
@<���

K�<L (
������� �$�6���BB@��7�������	���������������,0$����'���	
�������6�
���	��?����
����

6��
���6�������������	
�����.�-�=���
�����1.�2��@2�

K�2L (
������� �$�6��	���)���� �)�M���EE���)
�	���	�����	��������	������������6����
������#�����
*�����
�����'���	
� ����'��$	����/��4���5��"�
���
���������0���
�������"�	�
�������=
	����
+����� �"��	��.������@��

K�@L 0����� �8����	���$	
��� �+���EE�������6������������$
����#���������'�
����	����$���

"	
������"�
���
���������B����	���M���.����<<�

K�CL /Z����
 � $�� �EE������� '
	��� 6�
���	�� ,0$� '�
������� �������� 
��� ������ ��
���������� 
+��
�
�	�����	���/�����
�,��
��,����������?����
�
�'����
�
.�<��<C�

K�1L �������� �8�,��	���$�
���� �0�,���BCC�������

�����"�
������	���
��?���N�
�.�"�(
	��
0����A����,� ��@BE���

K�BL �
	�
� �I���EE���,�����
	��������(�
�	����+��
�
�	�����	���/�����
�,��
��,���������
�4@5�

K�EL >�


����� ��+���BCB��+������	���������������������
������
���������������������
	��
����	�
	��������
�������*��%
���K��
�0��
��	����	����1�M	�
�	�� �)���
�
.��@���@1�

K��L >�


����� ��+���B1���+��������������������
�������	��	�������
�����
	������-

����


	�����
�����<4�5.������@��

K��L >�


����� �+�J�8����� �"�J�'��	�� �?�J�	����"	
���� �+���BB�������*��	������,0$�����
	����
���,)����������������
����,�������E4��5.���EC����<�

K��L >�


����� ��+���BB@��+�����
������������,0$���������0��
��	����	��B����	�����?���	����
���
0

�

�14<5.��E����1�

K�<L >�


����� �+���EE���)��S�	��������,0$��7����
��������+����
��	���,6?6�(*6 ������ 

��������������������� �+�
�� �1B���

K�2L >�		��������
������EE���A��������	��C�������
�
��EE������
��	������	��������
�		
���
�		
		��������	���	�������	
����
	�������	��	�����������������

K�@L >�		��������
������EE���)����
���	��A�����������������������
	
����������
������������


���
��
�����	����������
�����������������������	���	�������	
����
	�������	��	�����




